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.GENERALENGLISH

Marks :40
pach question carry | mark :
SECTION-1 11. He takes a lot of trouble _______ his work.
: Hin b) about
A.Chuuthecmdmiﬂ"r'“"m ¢) for a4 d) with
B e o 12 A bl sas cuionsd ___ pick
1. His kitchen is fllof ____ pockets. -
a) tools ¢ b) devices a) about / b)of
<) appliances, {”m ¢) over d) against
2. The cold air made her face 13. a party next Sunday. | hope you
a) itch b) tingle can come. -
¢) sting “d) ache a) we have b) we're having
» o) we'll have ~ d) we'd have
3. She the silk delicately. /
a) felt “.B) patted 't decide: book to read.
©) handicd d) fingered :;m”“"’“ &
4. Fiying Roas ) which ) w.'htevel
a) frightened b) scared
©) terrified wa”.
S. Her ild with :
a) i cya""“‘t b) pamic ¢) armay d) assay ey
L P @ tarvor 16. A rudely carved stone lion s locally rea
6. Your decision is to our fi asa - against famine and plague.
a) crucial b) critical a) symbol lﬁ_;
c) vitsl d) esscatial ) totemn d) colophon
e gt ; 3 she had 17. The minister is tempted to moncy
LI e 0 T —=
Dangry " b) crossed a) tangle b) forgo
¢) indignant d)imad” ©) tackle d) embezzle
8. She was .umepv;upeaormvel- 18. In order to be clected, a candidate nocds
ling alonc. g ‘only a of the votes cast.
») scared b) alarmed 7"% b) plurality
<) paranoid d) frightened -h)'“??d d) modicum
9. Ravi was accurate his calculations.~  19. His decision to sell the land still
a) with b) on with her,
¢)in d)at ) rankled b) ranted
©) ransacked d) rambled
10. Do you take his word minc ?
a) over 5) or mmphﬂo'mph X
<) for d) with nes of happier days.
a) poised b) poi
©) ponderous d)m‘a

21. We fixed o
Nancy.

d) pelict
22,
a) si:: Woewas by lighning,
¢) cored :; Steered

scared

23. The tests i ;
casc carly, are designed to —_ the dis-
a) note
€) witness B) detect

d) observe
24. Students have the

in their second year. 2 Of studying abroad

) option

25 b) choice
) possibility d) altemative
25. He me he was right.
a) assured b) prompted
©) persuaded ) convinced
SECTION-1I

[B. Read the following passage and answer

the questions given beﬁ‘smrnged ]

Nothing sharpens a man’s wits like pov-

erty. Hence many of the greatest men have origi-
nally been poor men. Poverty often purifies and
b aman’s Is. To spirited people, diffi-
cult tasks arc usually the most delightful ones. If
we may rely upon the testimony of history, men
arc brave, truthful, and magnanimous, not in pro-
poruon to'their wealth, but in proportion to their
smallness ‘of mcans. And the best are often the
poorest always supposing that they have suffi-
cient to mect their temporal wants,

A divine has said that God has created
poverty, but hchasnolcrulcdniﬂy.l\ndlhuc
is cenainly a great difference between the two.
While honest poverty is honourable, mi is
humilating ; inasmuch as the latter s for the most
part the result of misconduct, and ofien of idle-
i whocan it o it gz o

| put up with it ; but he y
beggar’s staff once get warm ho finds the

in his hand
douanysood,buummofmm

Choose the a s
Sllowling & PPropriate antonyms of the

———— in the kitchen for

6. Wit

:) Ac-:men b) Capposum
c) Stupidity d) Levity
27. Spirited .
a) Intrepid b) Fiery
¢) Diffident A Insolent
28. Temporal
a) Mundane b) Transicnt
c) Ephemeral d) Spiritual
29. Pgorest
a) Insolvent b) Impecunious
c) Opulent d) Indigent
30. Di

- 2) Dishonor ¥) Distinguish
¢) Discredit d) Disrepute

Choose the appropriate meaning of the
words given below in the specific context
of the passage :

31. Braces -
©) Reinforces d) Tightens
32. Te
a) Evidence b) Legacy
c) Will Q)Alihu
33. Delightful
a) Enchanting b) Captivating
¢) Pleasing d) Ecstatic
34. Rely
a) Depend by Trust
c) Lean d) Bat
35. Misery
a) Calamity b) Ordeal

¢) Despondency d) Gricf

C. Choose the correct sentences :

36. (i) The rcason they misscd the train was
that the car broke down. )

(i) The rcason they missed the train was be-
causc the car broke down.



proke
(iii) They missed the train pecause the car
Qi b) (i) and (iit)
3 ::?l)a;fd(gi) d) (i), (i) and (ii1)

37. (i) He will answer if you write 10 h.lm.
(it) He would answer if you u{rote t(;m - -
(iiil) He would have answercd if you
to him‘ - e

i) and (if) b) (})a{lfl(m)
:; g:')):!:‘d (i) @ (i), (ii) and (iii)

38. (i) He is always early.

(ii) He will always come early.

(iii) He always comes earl)’-.

a) (i) and (i) b) (i) and @)
c) G} and (iii) d) (i), (ii) and (iii)

39. (i) You need to cut your hair.

(1i) Your hair needs cutting bac!ly.

(1i1) Your hair badly needs cutting.

a) (i) and (i1) b) (i) and (iin)
c) (ii) and (i) d) (i), (ii) and (iii)

40, (i) He doesn’t have a cold today.

(ii) He has a cold today.

(iii) He hasn’t a cold today.

a) (i) and (ii) b) (i) and (iii)
¢) (i) and (i) d) (i), (i1) and (ii1)

WLEDGE & APTITUDE

PART - B-GENERALKNO

l“.rks H 30

Each question carry 1 mark :

41. The highest Civilian Award in India is 7
a) Padma Bhushan b) Khel Ratna
¢) Bharat Ratna d) Padma Shri

42. The Indian Penal Code was enacted in which
year ?

a) 1860 b) 1870

c) 1910 d) 1912

43. How many members of the Rajva Sabha
are nominated by the President ?

a) 10 k)12

c) 15 d) 18

44, President’s Rule (Article 356) remains valid
in the state for the maximum period of

a) 2 months b) 4 months

<) 6 months d) 12 months

45. Who was the founder of first European ~«

Sestlement in Greenland ?
#) Eric the Red

b) B. Leif Ericsson

c) C. William Janszoom
d) Captain James Cook

46. The DRDO was formed in which year ?
a) 1956 b) 1957
2) 1958 d) 1959

41.Wbo“zstheﬁmlndhnwgagoum
in Olympics in shooting event ?

a) K.D. Jadhav

b) Major Rajyawardhan Rathor

©) Abhinav Bindra

d) Samser Jang

48. When did India successfull 2
Chandrayaan-Il moon mission ?y Rk
a) Wth September, 2019

b} 22nd July, 2019

¢) 5th October, 2019

d) 3rd January, 2019

49. .ﬁveHboysl\dehnbingahill. J was fol-
lowing .R\\as_lustahadof(il(
tween G & H. They e

uanhowaslhcswond?
a)H b K
AG dJ

lmgthofthesideofasquarelsrcpre-
Ss:;t:tbyxi-lThclmgthofdlcsidcofan
equilnmﬂu'iangleiszyclfthesquarcanddw
equilateral triangle have equal perimeter, then
the valuc of X is
a)2 b)3
c)4 d)5

51. A number whose reciprocal is the number
itself

a)0 B1

c)2 d)3

52. If point P is on line segment AB, then which
of the following is always true ?

a) AP > PB b) PB > AP

) AR> AP dYAR> AP + PB

53. All men are vertebrates. Some mammals
are vertebrates. Which of the following conclu-
sions drawn from the above statcment is cor-
rect.

1y’ All men are mammals

3) All mammals are men

¢) Some vertebrates are mammals

d) All vertebrates are mammals

54. If we arc using a binary (two value) system,
how many unique combinations can we make
with 5 binary digits ?

a) 28 b) 30

c)32 d) 34

55. Using all the letters of the word “PLACE”,
how many words can be formed, which begin

with P and end with E ?
a6 b)8
c) 12 d) 20

56. 56 men can complete a piece of work in 24
days. In how many days can 42 men complete
the same ?

a) 18 days by 32 days

¢) 98 days d) 48 days



\What is (he NCXE VAIUS 1N e serics 6, 24,
120,210
o6 b)340
o) M8 d)360
58, In a span of 24 hours, how many times
would the two hands of a clock point exactly in
apposite directions ?
)10 DAL
) H23
59, What is the official taguage of Brazil ?
a) Excnch b) Spanish
¢! Portuguese ) Latin
60, Gautama Buddha was bom in which coun-
try? }
a) India b) Myanmar
¢) Bhutan d\ Nepal
61. Ichthyologists arc zoolofists studying
a) Bin b) Fish
d) Insccts
62, Kimberlite contains what pmci&allun ?
#) Diamond b) Emerald
:) Ruby d) Platinum

o3, Wranslated from Persian to English, what
does’ Koh-1-Noor mean ?

a¥ Mouitain of Light  b) Break of Dawn 1
) Shining star d) Radiant boauty

64, Who was thé first Chief Justico of the Re-
public of India? -~

) M. Patanjali Sastri

b) Amal Kumar Sarkar

¢) Jayantilal Chhotalal Shah

& H. J. Kania

65. The Right to Information Act was cnaclcd

in which year ?
12002 b’;%
2 2005 J

. Mercalli is an altcmative scale lo measure
66. Mercalli i b) Smo

a) Ranfall :
¢l Earthquake d) Light

67, Tho most abundant meta on Earhis !
) Copper b) Aluminium

68, Who is known as the Father of Genetics 7
1) Mendel b) Crick

¢) Watson d) Darwin

69, The Opium Wars were fought in which
country 7

1) Japan b) South Korca

¢) China d) Russia

70. Which country is known a8 the Land of Thou-
sand Lakes 7 p

#) Norway b) Denntark
e)lwhd 4 Priland
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72.Abfxg contains one rupee, fifty paise, twenty
ﬁvepmseandtenpaisccomsinthcproponiq;
l:3:5:7.lflbclotnlmnowuisRs.22.25.ﬁnd

the number of 25 paisc coins.
a) 40 b) 35
c) 30 d) 25

73. A man mixces 6 kg of tca worth Rs 6'per kg
and 4 kg of tea worth Rs.7 per kg and the mix-
turc 1s sold at 10% profit. Find the sclling price
per kg of the mixture,

a) Rs 7.04 b) Rs.7.40

c) Rs 6.05 d) Rs 6 50

74.0netl\ousandminaﬁxucsshavepmvi-
sions for 12 days. How long will the provision
last if 200.-moré men join them ? §
a) 14 days b).12 days

c) 10 days d) 8 days

75. Working with a project, David and Sam 0.
geﬂmcanplaeapieocofwkh6dayg, If

) 4

ofthewk,inhowmnydaysSmamm
plete the rest of the work ?

a) 24 days b) 18 dayg

<) 12 days d) 6 days

76. Two friends take picce of work for
One alonc could do it in lzda,,'.bc:,:’:m-

days. With the assistance of

ish it in 4 days. mommmam they fin-
expert should get 7 ) ‘on the
a) Rs.240 b) Rs.320__

©) Rs.400 & Nesep

AASC1-20

77. A pipe can fill a cistern in 12 minutes amd
another pipe in 15 minutes, but a third pipe can
emply. it in'6 minutes. The three pipes are kept
open together . Find the time the cistem is emp-
tied / filled ?

<) cmipty in 60 minutes

b) empty in 27 minutcs

<) filled in 60 minutcs

d) filled in 27 minutcs

78. A shopkeeper bought locks at the rate of' 8
locks for Rs:34 and sold them at the rate of' 12
locks for Rs.57. His gain or loss is

a) Rs. 1 loss b) Rs. | gain

¢) Rs. 05 loss &) Rs. 0.5 gain

79. By scllinig cloth at Rs. 9 per metre, the shop-
keeper Joses 10%. At what price should, it be
sold so as to 15%.,

a) Rs.10 per me

b)Rs. 10.50 per

c) Rs.11 per metre

d) Rs.11.50 per metre

80. A shopkecper allows 10% discount on his
article. What price must he mark on an article,
which cost him Rs. 750, to makeq profit of 20%?
a) Rs.800 b) Rs.1000
©) Rs.1200 d) Rs. 1400

81 The simple intcrest on a certain sum for 4
years at 7.5% per annum is Rs 95 less than the
simiple interest on the same sum for 3.5 years at
10% per annum. Fipd the sum

a) Rs.1800 b) Rs 1900
<) Rs.2000 d) Rs.2100
82. Find out the capital required to cam a monthly

interest of Rs.600 at 6%, simple interest.
a) Rs.1 lakhs b) Rs.1.1 lakhs
¢) Rs.1.2 lakhs d) Rs.1.3 lakhs

83. How much will Rs.25000 amount to in 3
years, compounded yearly, if the ratcs for '"‘.;
cessive years are 6%, 8% and 10% respectively
a) Rs.34182 b) Rs.321482

) Rs.31428 d) Rs.3 1482



$4, ln how many years will Rs 2000 amount to
Rs.2662 at 109 compound interest ?

a) 4 years b) 3 wars

<) 2 years d) | woar

S8, The present population of a town is 73000,

mmmmmby 10% in the first year
and decreases by 10% in the socond vear. Find
the population after 2 years, e

) 74230 b) 74300

) 77230 d) 75000

86. How money will Be. required to buy
275, Rs.60 Shares at a discount of Rs.10 2

a) Rs. 19230 bBI R, 163

©) Rs. 13750 ) Re:2750

87. A motorcyclist travels for 10 hours, the first
half at 21 kmvhr and the other half at 24 knvhr.
The total distance travelled is

a) 330 km b) 324 km
Q 24km ~»d) 225 km

83, Rajdhani Express tmin travelling at a wii-
form speed clears a platform 200 metres long in
10 seconds and passes a telegraph post i 6 soc-
onds. The spoad of the trainis-
a) 150kmvhr . ~b) 165 kavhe
c) 180 kwvhr -~ d) 200 knv/hr

89. A boat goes 12 km upstream in 48 minutes.

The speed-of the stream is 2 knvhre. The specd

of the'boat in still fvater is ;
a) 135 kavhr * b) 17 kvhr
©) 24 kefthr d) 48 Tawhe

90. On dividing 4217 by a certain number, the
quotient is 108 and the remainder is 3, the divi-
sor is $

a) 108 b) 34
c) 49 939
91. The number nearest to 2160 and exactly di--
visible by 52 is
22184 b)2148
02177 1232

5 25 are
92. When the numbers 1. 3. 3, oo . -
multiplicd together, mwmwof Zeroes
the right end of the product 1s
a) 13 b)9
A 4o

93, The least number which when divided by
36, 48 and 64 leaves the remainders 25, 37 and
33 respectively is

2) 356 b) 5635

¢) 633 d) 656

94, 1fthe LCM of two numbers is 240 and their
HCF is 16, then the two numbers are
a) 24 and 40 © b)24and 80
c.HSan'nsq' ~ ~d)48 and 40

. 95.1€90% oFA =30% of B and B = x % of A,
: thea the Vlue ofx is

2)000 '< b)800
.€) 400 4 3o

KApinmomeZOmluq.shﬁnksby_
0.5% after washing: The length of the cloth af-
terwashingis

0195m b) 199 m
91995 m d) 1905m
/ . 4
» 97, 1f the average of @, b and ¢ is M, then the
w&:p(a‘fg.ﬂb‘,cdu -
a)% HM
9™ aam
g&hm-&ﬂsmmé&s
a&kguh*habmmm-
crage weight increases 1o 36 kg The weight o
the teacher is
Dkg b) 70 kg
€)35kg d)36kg
99. 1f the m of6, 4,7, aand 10}
d‘:? 9/, 7,aand 10is §, then the

N, b) 11
906! 15





